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Class: 3 Subject: Mathematics Topic: Unit 6
QL. Tick the correct option:
1. Ina division sum, the remainder is always the divisor.
a) Smaller than b) Greater than ¢) equal to
2. Ifthe dividend is zero, then the quotient is:
a) 1 b) 2 c)0
3. When the largest 3 digit number is divided by 3, we get:

a) 33 b) 303 ¢) 333

Q2. The division fact of 4 x 5 =20 is

Q3. Without actual division, find the quotient and remainder: 9432 + 1000

Q4. Akshat has 32 buttons. Each shirt needs 4 buttons. How many shirts can be sew the
buttons on?

Q5. Solve the following: 785 + 5




